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100,000, 000& * 14! 100,000
OAIH 2 AME A SIIH E2 &0 &
50,000,000& =14l 50,000
405 XHoHF S HI 410,000 66,120 343,880
01 XAt 2 ZFH S| 410,000 66,120 343,880
OAHOH CHAIE A EF =28 I 7
30,000,000 =1CH 30,000
Ou=ygs 3 & DE =J/H M+
2,500,000& =150CH 375,000
O=2l8 U 2L (BZAHA S)
1,000, 000& *5CH 5,000
SIHHAESZHUMAA(EE) 74,100 100,000 225,900
= 22,220
Al 51,880
405 THebH S| 74,100 100,000 225,900
< 22,220
Al 51,880
01 AL 2 S FH S| 74,100 100,000 A 25,900
O AL &~ == ZHl A 7,410,000 «10CH 74,100




fAM: sgIlsdH
MY =ENE
@ sIAH2E (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 22,220
Al 51,880
SIAHAMEI A S 15,898 22,898 A7,000
101 @14 Hl 10,898 10,898 0
04 JIZHHZ2XNHEE S 10,898 10,898 0
OsJ1H &=3l+el elHHl 60,5402 +180L *1H 10,898
206 M= Hl 5,000 12,000 AT7,000
01 = tl 5,000 12,000 27,000
Ozal+=cl& sIH 237
5,000& x1,000& 5,000
sIHES M 19,500 19,500 0
301 L2 A= 19,500 19,500 0
09 HALAHIEA S 19,500 19,500 0
OsJIHARE (A8 ALIHHAFE WS S)
HotE 4 390,000& *100H *50% 19,500
SIHHEWEAMS(EX) 16,000 78,000 A 62,000
= 8,000
Al 8,000
201 L2l 1,000 1,000 0
= 500
Al 500
01 At 22l 1,000 1,000 0
OsJ1H etEolE sy 2934 100,000& 103 1,000
= 500
Al 500
206 M= Hl 3,000 2,000 1,000
= 1,500
Al 1,500
01 =8l 3,000 2,000 1,000
OsJ1H etd0lE ws ME  300,0008 108 3,000
= 1,500
Al 1,500
301 L2 A3 4,000 3,000 1,000
= 2,000
Al 2,000
09 BALAHIE &S 4,000 3,000 1,000
OsJIH M0l s It B4
20,0003 100 #23| 4,000
= 2,000
Al 2,000
405 XHoHF S HI 8,000 72,000 A 64,000
= 4,000
Al 4,000
01 AL 2 S FH S| 8,000 72,000 A 64,000




AN sg€II=4dH
MY =ENE
@ sIAH2E (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O=80olZ MdIl 2 8,000,000 *1CH 8,000
= 4,000
Al 4,000
HEFEE sIAHAXNEMS(EX) 150,000 0 150,000
= 75,000
= 22,500
Al 52,500
405 TtatF S| 150,000 0 150,000
= 75,000
< 22,500
Al 52,500
01 et EFFH S 150,000 0 150,000
OWA&zSE =sIIH 2 (9U) 150,000
= 75,000
< 22,500
Al 52,500
[ERSPNE] 3,513,815 4,212,730 A 698,915
= 467,025
X 360,000
< 53,370
Al 2,633,420
== 958,770 1,142,016 A 183,246
= 89,565
Al 869,205
DEZAMA 23,500 65,500 A 42,000
201 Let24d] 2,500 2,500 0
01 At 2teltl 2,500 2,500 0
OAl&asE SEHIa RS MA
500,000& x53] 2,500
301 et A Z 3,000 3,000 0
09 &AL HIZB &S 3,000 3,000 0
OAMSESE Bt EA&B4Z
10,000& » 1502 *23| 3,000
402 QIZ2FXt20l ™ 18,000 60,000 A 42,000
01 A=A EX 18,000 60,000 A 42,000
QYN H REEXN MBEZ =4(1ha)
10,000, 000 *1JH 2 x60% 6,000
OO0 S=da ASTHHH
10,000, 000 *2JH 2 x60% 12,000
HolESEISI =X & 700,000 700,000 0
402 RIZEX20l A 700,000 700,000 0
01 It At B X 700,000 700,000 0
Ogdls MALH(S24 MelH) K& 700,000
SHSHHSHELMALE (EX) 121,107 141,100 A 19,993




A sgI=HH
Ha: HHX
el N2E (29l & 2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 60,550
Al 60,557
101 Q121 H] 18,140 17,946 194
= 9,070
Al 9,070
04 JI2ZtHIZ22NEE S 18,140 17,946 194
OHHERSA Bal2y Ry
48,2403 x230 x1H 11,096
= 5,548
Al 5,548
OBHSFSY B2I2Y RBEL4T
48,240 462U x1H 2,220
= 1,110
Al 1,110
OYHBRET Hol2y ony
48,2403 100 x1H 4,824
= 2,412
Al 2,412
201 LBt | 1,476 1,836 A 360
= 738
Al 738
01 AP 22| H| 1,476 1,836 A 360
OBHS2ET HENE & LSy
492,000 *3H £ 1,476
= 738
Al 738
206 M = Hl 1,484 1,318 166
2 742
Al 742
01 X2 H| 1,484 1,318 166
Odalsdzazd a2l 74 ,200& 205 1,484
= 742
Al 742
402 SI2vXHE0| & 100,007 120,000 A 19,993
= 50,000
Al 50,007
01 QIZEXIE2AIE 2 X 100,007 120,000 A 19,993
Ol HallSAIEEM(SIA M M)XK
158, 000& *633ha*50% 50,007
= 25,000
Al 25,007
Ot sLYals M 200,000 *250ha 50,000
= 25,000
Al 25,000
wsg9sdiss 62,148 99,528 A 37,380
101 Q124 H| 9,648 8,928 720
04 JI2ZtHIZ2 2 NEES 9,648 8,928 720
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A sgI=HH
Ha: S
el N2E (29l & 2)
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SEPEIEEEDEEEEEEE
48,2403 100 x1H 4,824
= 2,412
Al 2,412
201 Bt 4d9 ]| 1,000 1,000 0
2 500
Al 500
01 AP 22| H| 1,000 1,000 0
OSeHFA 2Y MEREE 100,000 x103| 1,000
= 500
Al 500
206 M = dl 5,462 8,014 AN2,552
= 2,731
Al 2,731
01 X2 bl 5,462 8,014 A2,552
OZ8lIss 228 Mgz 273,100& x20= 5,462
2 2,731
Al 2,731
MASE BENEEZ 6,015 0 6,015
= 6,015
206 M = Hl 6,015 0 6,015
= 6,015
01 =4l 6,015 0 6,015
OMASSEFANZN EXHAI 272 6,015
= 6,015
MAD=2d9 592,345 848,345 A 256,000
= 205,000
< 39,170
Al 348,175
MAAD =22 63,000 355,000 A 292,000
402 SI2FXHE0| & 63,000 355,000 A 292,000
01 QIZEXIE2AIE 2 X 63,000 355,000 A 292,000
Ol JI==E UNWEF AS ML A"
47,000,000 = 1E+X| *60% 28,200
ODME BREY JsAY
16,000, 000 = 1 & X| *60% 9,600
OExUMA ASTHHY DAY
24,000,000 = 1&+X| *60% 14,400
OdSH SIS SE 8T STEIR M4
Al 18,000, 000 » 1 & X| *60% 10,800
AMI=BZAMA(HA)(BEX) 390,000 230,000 160,000
= 195,000
Al 195,000
402 DIZHRFEO0I A 390,000 210,000 180,000
= 195,000




AN seIIsHE
3N J¥NE

Chelr MAII=22 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 195,000
01 It 2 AL E X 390,000 210,000 180,000
ODMHE SHYHZSS DIMSH UH AY
40,000,000& »1EH X 40,000
= 20,000
Al 20,000
OADIER NS0 28I S 2SI
50,000,000 = 1EH X 50,000
= 25,000
Al 25,000
OAEMA D20 32l
100,000,000& *1&H X 100,000
2 50,000
Al 50,000
OgME s&tE 222 AE
200,000,000& *1&H X 200,000
2 100,000
Al 100,000
WL ASHER2O0HAYE(EX) 119,345 63,345 56,000
< 39,170
Al 80,175
402 RI2EX=20l A 119,345 63,345 56,000
< 39,170
Al 80,175
01 It 2 AL E X 119,345 63,345 56,000
OZESZ AL SESLHI= Al
10,000, 0002 *1JH 2 x80% 8,000
< 2,500
Al 5,500

OANEMa MUK FI1s ESHE Al

10,000, 000 » 17H 2= *80% 8,000
< 2,500
Al 5,500
OndX WIMFE B3 & AL
50,000, 0003 » 17K 2= x80% 40,000
< 12,500
Al 27,500
OLNSE R CI|12 & AE
33,350, 0003 » 17K 2= 70% 23,345
< 6,670
Al 16,675
OAEMNA THEHEEIHE Al
50,000, 0003 » 1K 2= x80% 40,000
< 15,000
Al 25,000
USASSHHEISANA(HA)(BX) 20,000 200,000 A 180,000
= 10,000
Al 10,000
101 1Al 4,800 0 4,800
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AN seIIsHE
3N J¥NE

Chelr MAII=22 (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 2,400
Al 2,400
4 D12t Z2 RS2+ 4,800 0 4,800
Odldl& ASAIE ARFA Q12|
400, 0003 44 & «30H 2 4,800
=2 2,400
Al 2,400
201 LIl 3,900 0 3,900
2 1,950
Al 1,950
01 At 22l 3,900 0 3,900
Otz AdSANE d7F8 MHEHE Y A2
= 7 300,000 133 3,900
=2 1,950
Al 1,950
202 oddl 1,400 0 1,400
2 700
Al 700
01 = LH o4 1l 1,400 0 1,400
Odldl& ASAE ARFA Al
140,0002 *22 x5} 2 1,400
=2 700
Al 700
207 A RO H| 7,500 0 7,500
2 3,750
Al 3,750
03 A&l & 224l 7,500 0 7,500
Oddl& ASAE ARFA Mz 7L
500, 000& *x5F 304 & 7,500
2 3,750
Al 3,750
405 RHoHF S HI 2,400 10,000 AT,600
2 1,200
Al 1,200
01 AL EFFH S 2,400 10,000 AT,600
Oddl& ASAE A=A AHEI 7¢
600,000& x4Z& 2,400
=2 1,200
Al 1,200
S s 234,427 240,392 A5,965
MIISASAEE 66,439 73,624 AT,185
101 @14 Hl 28,944 26,784 2,160
04 JIZHHZ22XNHEE S 28,944 26,784 2,160
O&ASAH WX At J12HH 1A |
48,2403 300 «2H 28,944
201 £B-2dH| 9,000 8,000 1,000




D= M E
NONE]
A e = (2 &HH)
5 - 4
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
02 2224 H| 9,000 8,000 1,000
OMZR MADIBE AIALSXH(RHEAEH, X2
HHZA M2MHAD) 500,000 x12J00 & 6,000
OAZS ANEEZE HHKAE$H|
500,000 6= 3,000
206 M = Hl 28,495 38,840 N 10,345
01 X2 HI 28,495 38,840 A 10,345
OAZS ANEEZHE &9 M2 5,500
A2s)|F 7Y 50,000& x10= 500
PIDAD\ ] 300,000& 10 3,000
S HEsPY 200,000& x10= 2,000
OAZSANEZ SIHRY 5RU(ER)
1,330& *5= x3002| & 1,995
OMSICHH M2AT Ma8 4E7Q
7,000& x3,000% 21,000
R kAl 11,648 13,928 A2,280
101 e1214| 9,648 8,928 720
04 JI2tHI22XNSESE S 9,648 8,928 720
OXAH LA SY ol2AHH| 9,648
ol &t 48,240 %200 «1H 9,648
206 M = dl 2,000 2,000 0
01 X2 bl 2,000 2,000 0
OZHUYE Mo ZHUWY Al%PY
200,000 5= 1,000
OXAHILZ MA I 2
100,000& *10= 1,000
SF M ZHAF MARD|EE = 156,340 152,840 3,500
201 gEt24H | 1,000 1,000 0
01 AP 22| d| 1,000 1,000 0
OMZX Ma2H AR 22I8] 100,000 *105 1,000
206 M = Hl 7,000 0 7,000
01 X2 bl 7,000 0 7,000
OMNZX =8 2 HESE EcCtAE A7
7,000 *1,000H 7,000
207 I & 42,000 54,400 A 12,400
03 A& o 32H| 42,000 54,400 A 12,400
OJISMA ZSEN2Z X MALE 2SS SHEAS
1,000,000 x204 2~ 2,000
OFsF MZX MAH A= W2ERE P2 (AR 20k
g) 40,000
301 et A= 1,340 1,440 A 100
09 HAIAHI BEAZ 840 840 0
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2N
X ZH -
L= B

el

sJl=dd
ERSPAR]
Statd =4

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OF& MZX A =8Ol D=
7,000 x60H x23| 840
11 JIEtE & 500 600 A 100
B MR MM SHQ DT ALY
250,000 x23| 500
402 SI2F X201 M 105,000 96,000 9,000
01 QIZEXIEAIE 2 X 105,000 96,000 9,000
OFSMN2Z X CHEMA SAUAF XI& AL 60,000
OSSN ZAH CHEMA I P A& A
75,000,000 = 1Et X| *60% 45,000
edlsed 1,065,286 1,024,653 40,633
= 30,000
N 330,000
= 14,200
Al 691,086
AMI=EBS AN (UL)(BEX) 60,000 100,000 A 40,000
= 30,000
Al 30,000
402 SI2F X0l M 60,000 100,000 A 40,000
= 30,000
Al 30,000
01 QIZEXIE2AIE 2 X 60,000 100,000 A 40,000
O20| A M XI=THE Al
60,000,000 *1&t X *100% 60,000
= 30,000
Al 30,000
N Rl NP 176,000 121,200 54,800
402 SI2FXHE0| & 176,000 121,200 54,800
01 QIZEXIE2AIE 2 X 176,000 121,200 54,800
Otz ASE THHE L AlDl= THHE Al E
100,000,000 = 1 &t X| *60% 60,000
OANH&ESIRA =201 THHH
100,000,000 =174 2~ *60% 60,000
OJdlsd 2% M AlY 26,000
OE=x0t §Z2E o X &4 (40ha)
50,000,000 = 1&t X| *60% 30,000
WD |=FMA2G 2,000 2,000 0
207 AR 2,000 2,000 0
03 AIE 2 2,000 2,000 0
OZl==2d 23 Mg+ 200,000& x10= 2,000
NEsHEMLI}I=XNR(EX) 360,000 320,000 40,000
Xl 180,000
Al 180,000
201 ety 2,000 2,000 0

_23_




JlsdH

M @EXE

I UeIN=2E

(o
SN EHD B (3H) - MEAY - BAS %Ei HD=2
Al 1,000
Al 1,000
01 AP 22| d| 2,000 2,000 0
ODHEX WAI(ZS AD) 6XF A& SR X
A usis ME 200,000 =103l 2,000
N 1,000
Al 1,000
301 LEtE A= 8,000 10,000 A 2,000
Xl 4,000
Al 4,000
09 HAIAHI B A2 7,000 10,000 A 3,000
ODHX WAI(EZS AD) 6XF At SR X
Hd s 2 HXor 1,000, 000& 73] 7,000
N 4,000
Al 3,000
11 JIEtE A2 1,000 0 1,000
ODHEX WAI(EZS AD) 6XF At SR X
H Ns4s" 1,000
402 SI2vXHE0| & 350,000 308,000 42,000
Xl 175,000
Al 175,000
01 QIZEXIE2AIE 2 X 350,000 308,000 42,000
ODHEX WAI(EZS AD) 6XF At X
gt 350,000,000 1<t X| *100% 350,000
N 175,000
Al 175,000
NS 2)|8t RS (W) (BEX) 300,000 300,000 0
Xl 150,000
Al 150,000
402 SI2FXHE0| M 300,000 300,000 0
Xl 150,000
Al 150,000
01 QIZEXIE2AIE 2 X 300,000 300,000 0
OHXREZLSE ANESBILA MBI I= Al Y
100,000,000 *1& X *100% 100,000
Xl 50,000
Al 50,000
O&EA QoA AD|lz= AlEHEX =4
200,000,000 1<t X *100% 200,000
N 100,000
Al 100,000
2SS MG 87,995 21,793 66,202
101 Q124 H] 2,895 893 2,002
04 JI2ZtHIZ2 2 NEE S 2,895 893 2,002
O =M 232 dAS &x & =
H o 48,240 x 10 x23| 965
O=23tMtH otA 22l 48,2409 20 x2H 1,930
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2N
X ZH -
L= B

el

sJl=dd
[ERSPAREL

D=2

- _ _ RE]

SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 8,000 2,500 5,500
01 AP 22| H| 8,000 2,500 5,500

O3 232 Mus Z2UHEAS Y
= 8,000,000 *13] 8,000
206 M = Hl 42,000 7,000 35,000
01 X2 Hl 42,000 7,000 35,000
ON&2=sMaEs Z2s=Mes 7Y
7,000 *100Y x3& 203 42,000
301 et A= 20,100 7,400 12,700
09 HAIAHI EAZ 10,500 4,200 6,300
Ofa=Mas Z2g2Mus a4 8
4,000& *100¥ x203] 8,000
O=3 dAXNY sy L X0
2,500,000 *13] 2,500
11 JIEtE A= 9,600 3,200 6,400
OdNa2sMaEs 2szMns 2AI=E
160, 000& *x203| *3H &t 9,600
401 Al HI L 204 HI 15,000 0 15,000
01 Al&H| 15,000 0 15,000
O=23tEAIZ & X 15,000,000 = 1JH A~ 15,000

MNEE24 37,851 27,660 10, 191
101 Q124 H] 12,061 11,160 901
04 JI2ZtHIZ2 2 NEES 12,061 11,160 901

O=23 & As2A 22BX JI2HN228 &2
~ 12,061
ol ct 48,2403 %209 «1H 10,083
SaFLE 48 240 x41L x1H 1,978
206 M EHl 6,490 5,500 990
01 X Z H| 6,490 5,500 990
Or=z24 29 M2 2,500,000& *1JH & 2,500
OrS2A K232 (HFS) 1,3302+3,0002] & 3,990
207 A OH 4| 3,000 3,000 0
03 A& A 32H| 3,000 3,000 0
O=23t MEB=Z ANEAT THHH
3,000,000 x1& = 3,000
401 Al HI L 2 0HHI 10,000 8,000 2,000
01 Al& H| 10,000 8,000 2,000
OAlE24A AN 10,000,000 = 1JH 2~ 10,000
405 XHAHFE S HI 6,300 0 6,300
01 XA 2 ZF S| 6,300 0 6,300

_25_




AN seIIsHE
3N J¥NE

&S D=2 3 CEE-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OUFAGIRA sHE HYI 2L
,000,000& = 1CH 6,000
ONga+=8 8s2H + 300,000 1CH 300
o ASEHSEOF AIE(EX) 41,440 132,000 A 90,560
< 14,200
Al 27,240
402 RIZ2EX20l ™ 41,440 132,000 290,560
< 14,200
Al 27,240
01 It =2 AL B X 41,440 132,000 290,560
O=uASESSsE ANE
26,800,000& » 1 &+ XI *80% 21,440
< 6,700
Al 14,740
O=s0t ZHE =S AlH
25,000,000 *1JH 2 x80% 20,000
< 7,500
Al 12,500
FHsEHd=2Y 264,719 554,059 A 289,340
FOHALE LS 264,719 264,059 660
101 @124 dl 89,249 95,809 N 6,560
04 JIZHHZ2XREES 89,249 95,809 AN 6,560
OllR2HRS HIREX JI2HIEXNES 89,249
o 55,7803 250 x5 69,725
e84 55,780& 52 x5 14,503
S22 R+E 83,6703 x12 «5H 5,021
201 £B-2dH| 67,820 66,000 1,820
01 At 22l 4,820 3,000 1,820
OF0uY 243t ARES ¢
200,000& =102l 2,000
Odad g8 21z 235,000& 128 2,820
02 =224l 63,000 63,000 0
OoflRel dxs2g dJIe=
5,000,000& x12& 60,000
OblRel =3 s AIEEHI SN
300,000& =103l 3,000
206 M= Hl 30,000 45,615 A 15,615
01 =4l 30,000 45,615 A 15,615
Ol BsR4L e
300,000& *10& 1001 & 30,000
207 A O] 30,000 51,935 A21,935
03 Al & 11Hl 30,000 51,935 A 21,935
OZQMa ANEAR HEPY
2,000,000& x53| 10,000
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2N
X ZH -
L= B

el

5 - 4
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
SN EEEN RN
4,000,000& =53] 20,000
307 glz2tol & 12,400 2,400 10,000
02 IZtE M AHE L 10,000 0 10,000
OXcIZEANM 222 28X
10,000, 000& 14 10,000
05 RIZHRIE 3 2,400 2,400 0
O0lRe ABZERMA HTE 201HY|
200,000& 122 2,400
401 A& HI K 201 I 8,000 0 8,000
01 A& HI 8,000 0 8,000
OO0t aH2els E=3A 8,000,000 x14 8,000
402 RIZEX201 A 26,250 0 26,250
01 It 2 AL B X 26,250 0 26,250
OgIzZt Xoda s SEAY
12,500, 0002 *3JH 2 70% 26,250
405 RHoHE S HI 1,000 2,300 1,300
01 AL EZFHSHI 1,000 2,300 A 1,300
ogdlalor #st 2 500,000& *2H 1,000
FE2Y 398,268 403,265 A 4,997
= 142,460
Xl 30,000
Al 225,808
SHZEIMATNA(BX) 73,000 78,045 A5,045
= 36,500
Al 36,500
201 Let24d] 11,000 13,500 A 2,500
= 5,500
Al 5,500
01 At 22l 11,000 13,500 A 2,500
OZtr=s 4N UM HE
30,000 x2Z * 100 6,000
= 3,000
Al 3,000
OZdas At 2el & 4nXA
250,000& 205 5,000
= 2,500
Al 2,500
206 M= Hl 6,000 5,300 700
= 3,000
Al 3,000
01 MHZ 4l 6,000 5,300 700
OZars 54 24 ME 100,000& 603 6,000
= 3,000
Al 3,000
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fAM: sgIlsdH
Ha: HHX
Sel: sYu¥Eey CER-ED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
301 gt L= 41,000 45,100 A 4,100
= 20,500
Al 20,500
09 HALAHIEA S 14,000 13,790 210
OZds SdUs 24 7,000& =100 103 7,000
= 3,500
Al 3,500
OZas Atgatel & X2
7,000 2509 *23| 3,500
- 1,750
Al 1,750
OAMOIH=sLQ e-HIZLIA ASEE XN UF
g4 7,000 x50 102 3,500
- 1,750
Al 1,750
MIEE43 27,000 31,310 24,310
OYrs SEDR A L ALE 4
250,000& x763| 19,000
- 9,500
Al 9,500
OZas Atg2el & S40X&  250,0008 6H 1,500
- 750
Al 750
OAOIHSYO e-HIXLA AS2E XY DS
ZA=E 50,0003 *x26 3| 6,500
= 3,250
Al 3,250
307 2Iztol ™ 15,000 5,000 10,000
= 7.500
Al 7,500
02 It M AMHEE 5,000 5,000 0
Odas ZE(portal) 82 X2
5,000,000& =14l 5,000
- 2,500
Al 2,500
05 RIZHRI &3 10,000 0 10,000
OYss FYag L Asg
10,000, 000& * 14! 10,000
= 5,000
Al 5,000
SUANBUEHRSY 24,300 38,260 13,960
201 LBH2d| 24,300 28,260 A 3,960
01 At 22l 2,460 2,460 0
O=g8324HH 28435 2,460
sHEENEH2E 243 AREE5+7Y
300,000& x63| 1,800
200l NHA(EUHE ASMHIA) 660
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fAM: sgIlsdH
PSR B PSON R
o9 sH¥ERY CEEEED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
02 3322l 21,840 25,800 A 3,960
O=sgZ32dH2Y 2t 21,840
EHOIX 2 XIE==HlI(H/W,S/W)
1,100,000& 128 13,200
. WS AtE ZE 300,000& =122 3,600
QW AIE= 30,000 x 123 «14CH 5,040
NesgllsdEBsHEx) 8,008 10,000 AN 1,992
= 4,000
Al 4,008
101 144 dl 8,008 10,000 AN 1,992
= 4,000
Al 4,008
4 JI12ZtHZ22XEE+ 8,008 10,000 A 1,992
OXNE=sdl=d2s A&
48,2403 x 18 x166 8,008
= 4,000
Al 4,008
SN2 ASITA 2H(BX) 6,960 6,960 0
= 6,960
202 odl 2,320 2,320 0
= 2,320
01 = LH o4 1l 2,320 2,320 0
OsdtEa 2SAF 24 ¢l
20,0003 *23| x40 Jt 1,600
= 1,600
OZZIEFE HLXE ol
20,0003 *43| x9= It 720
= 720
301 L2 L= 4,640 4,640 0
= 4,640
11IIEEAS 4,640 4,640 0
OsdtE ASZA 24 =0t Mdl3
40,000& *23| x40 Jt 3,200
= 3,200
OZZIEE HM =t Atell=
40,0003 *43| *9= It 1,440
= 1,440
SMDI=EZ2(EX) 190,000 270,000 A 80,000
= 95,000
Al 95,000
402 RI2FX=01 M 190,000 270,000 A 80,000
= 95,000
Al 95,000
01 It 2 AL E X 190,000 270,000 A 80,000
O|H AISEZ & MatH 22 JI=sAE
100,000,000 *1JH 2 x100% 100,000

_29_




A sgI=HH
M HEHEXE
o9l sYUEELY (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 50,000
Al 50,000
OHIE S HIESXI|D| &2 Iz MAaH &4
Al 90,000,000 *1J4 2 *100% 90,000
2 45,000
Al 45,000
EMAD=ES 36,000 36,000
402 BI2H X201 M 36,000 36,000
01 QIZEXIE2AIE 2 X 36,000 36,000
OPSY(EH?2t RLEY & M )8 S
= AlEsIis4d 60,000,000 =14 2~ *60% 36,000
KNG 2)|t XL () (EX) 60,000 60,000
Xl 30,000
Al 30,000
402 SI2vXH=20| ™ 60,000 60,000
Xl 30,000
Al 30,000
01 QIZEXIE2AIE 2 X 60,000 60,000
OHE sgEEIN 24+ 2935 MY
30,000,000 x204 &~ 60,000
Xl 30,000
Al 30,000
AN 2P A 447 ,463 22,053
OlESAY|(sYII=4H) 283,123 22,053
QlE2AY| (sHI|I=4H) 283,123 22,053
101 2121 d| 283,123 22,053
03 2INHA22XNHE %= 283,123 22,053
OgPEX(HHMBEXZ1H, ZSSAdHAIH, 0| R
2l1H) 92,369
PiR=E=1 1,260,2703 x3H «12& 45,370
a2 1,260,270 3% x400% 15,124
WESE XH| 120,000& »3H x12& 4,320
oM FAH| 130,000 x3H «12& 4,680
A2t 222
9,8242 «1 5H x15A| 2H+x3H x 12& 7,958
HESIHH| (A, =4)
1,260,270 *3% x120% 4 537
oD 82 Al 9,824 x8A| 2+ *3%H 10 2,358
2 368,500& x12& 4,422
IIELS (X2, XHEH2) 120,000& x12& 1,440
ol S| 40,000& x1H ~ 128 480
[ERAESEEEEy =y 70,0008 x2H x12& 1,680
OsJIH £elRH(5H) 190,754
ez 1,260,270& x5 x12& 75,617
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fAM: sgIlsdH
M HH2AA
chel: oE 2l (sIIsdH)
= - - SHE]|
SN FHE - B(BA) - MRAY - BHES Ol &t o4 e
&0= 1,260,270& *5% x400% 25,206
ey ]| 120,000& 5 128 7,200
& Mz AlH| 130,000& x5H x12& 7,800
Nel2esg
(9,641 *x50A] 2t*1 . 5x5%H 92 )+(9,641& *15 35,793
Al 2bw1 5x52 %32 )
HEFIOHHI(E , =4)
1,260,270& x53H x120% 7,562
S22 RE 77,1283 1 .58 x5 x 152 8,677
IS &b 77,1283 x5 102 3,857
2+ 423,500 123 5,082
IE=4 (R X5, 226, XHH9)
500,000& = 12& 6,000
PER = 1,360,000& 1 1,360
AL (B AUAIE L)
100,000 »2H 122 2,400
HEXNRLG 70,0003 x5H 128 4,200
Jleddl(sgJi=4dH) 164,340 164,340
Jl2dtl(sgJI=4H) 164,340 164,340
201 Let24d] 74,700 74,700
01 At 221 24,700 24,700
Oogzze+d 24,700
02 23224l 50,000 50,000
Osgllzs 3323 % HMA 50,000
202 odl 75,800 75,800
01 = LH o4 bl 51,800 51,800
OsgJlls g2FA(EZ) 51,800
02 A0 24,000 24,000
Os=sQlagaz XA
((150,000& *6H )+(200,000& * 1Y )+(225,000 24,000
x4 ))«128
203 R =&Yl 13,840 13,840
01 JI22H S =aH 3,300 3,300
OsgllsdHA® 3,300,000& x1H 3,300
02 ZRIaHRF=XH| 2,080 2,080
OF AL S = 40,000& x52H 2,080
04 FN2IELSFTH 8,460 8,460
ORA2EIRFEHI 8,460
sEXEH(31Y) 4,260
SEX D (21F) 4,200




